B d &

TE4 HEEARBITVRESR B LE

L3 8% Y4 TH R 1767

T AT, AERKEDITVREMRES (W IVEEIC L & 5B AH LD T, :ﬂ%ﬁ%ﬁé%@*@%éo
B B ) AT (R} )
e 48l A5 (BPY) 2B

. _ ITVEELR | AR S : 15
B BERETE 12
B
i L # H=H £ A = THEAK

EED HAD B

2 ' B PRk 314 24 15 H H




1%

M
[
pf11]
s

i

o
=4

A& % B ¥ 4,426,650
H BT $ R ¥ 7,316,245
¥ 23,598,000 Mo L T #H ¥ 6,319,842
. B W ¥
SESIRME 20,274,408 i £ 5 5 877,849
(Bitk 18,772,600) ~REHBEE Y 2,911,494
= H ¥ 21,852,080
MmO R
ol EETHEE | ErHEE | REHHRE | —RERRSE
ITVER{E B T 4,426,650 7,316,245 6,319,842 877,849 2,911,494 21,852,080
& &t 21,852,080
o & F 21,850,000
HE B EHEYHE 1,748,000
w e H & E 23,598,000




NO. 1

T fE X 3 4 B a2 IR ~TE B () s (9)
ITVRIEHETLT 0 BIEPNRREE
1 tEERE

BEsE = 4,426,650

it ) | 4,426,650
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(DiaER 1] = 100,000
(DB E 1| = 2,085,672
BB EE 1 = 1,108,900
WEe T 1] = 3,425,810
(5)EL R 1] = 38,899
(6)ERE 1 = 556,964
- gt (EETEHE) 7,316,245
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(DFLE R E = 2,058,000
()G Ty ¥ 4,075,000
()R HIEE 2N 186,842
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